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b= AFE A 2,090,000 2,090,000 0
3ot 2l 2,052,000 1,552,000 500,000
St=2tHA S (St =S8 3 H) 2,062,000 1,552,000 500,000
ot AlEdEg 2l 68,961 48,961 20,000
101 QI 11,661 11,661 0
04 JIZHZZ2ASE=> 11,661 11,661 0
O sE+3LAlAY
38,8702 x2& «150& 11,661
201 et 26,300 26,300 0
01 AtR2teld] 8,300 8,300 0
Oget+==tl 3,000
OJIZEHI L AIAIS QIR T = 150,000 »2H 300
O®IE U=t 5,000
02 524t 18,000 18,000 0
O0=s=2= & AHA 5,500
OAE&HI R A 4,500
OXtetd el 4,000
O#afot===& 3| 4,000
202 O4Hl 11,000 11,000 0
01 =LHOHI 5,000 5,000 0
Odt=E At 2 =W O8I 5,000
03 =2ASF0HI 6,000 6,000 0
Odt=Z Al 2e =220 6,000
207 & op ey 20,000 0 20,000
01 AESAd| 20,000 0 20,000
Oot= 2R EE & MEE &E HAEH 20,000
St AEE=E S A 100,000 250,000 A 150,000
401 Al&ZHI LRI 100,000 250,000 A 150,000
01 Al£Hl 100,000 250,000 A 150,000
Odt=TAIdE=E 3 Al 100,000
ot A ENE AL 500,000 1,203,039 A703,039
401 AlZHI XS 500,000 1,203,039 A703,039
01 Al&HI 500,000 1,203,039 A703,039
Odt=T AIEHE AL 500,000
ol gl 1,383,039 50,000 1,333,039
801 GilBIbl 1,383,039 50,000 1,333,039
01 ofiblbl 1,383,039 50,000 1,333,039
ool 1,383,039
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